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Tuesday 13TH JUNE 2006


KENYA AERONAUTICAL COLLEGE 

MATHEMATICS C.A.T

FIRST YEAR – FIRST TERM

1.
Simplify


(i)
(x² - y²) ½   x (x – y) 3/2  x (x + y )-½  

(ii) 3    x9  y⅓ z½   x y8/9  x (2-8  x6  y² z1/3 ) -½    
(6 marks)

2
Rewrite the following without logarithms.



(i)
In I = in (2v)  -    In (KR + r)  -  In k + KL



(ii)
Log F + Log G + Log m – Log     1    - 2 Log r







      M



(iii)
Rewrite T =  2π     1/9  in Log form

(6 marks)

3.
Solve for x given that


(i)
4 Loga  √x  - Loga  3x  =  Loga  x-2  
(ii) 8 x 13.4 (2x + 1)  = 5.9 4x  
(6 marks)

4.
Factorize the following expressions as completely as possible.


(i)
6x³ + 37x² + 67x + 30


 (ii)
4x4  - 4x³  - 35x²  + 45x  + 18

(6 marks)

5.
Solve the equation


2x4  + 3x³  - 13x²  - 6x  + 8  = 0

(6 marks)


